
https://www.pass4itsure.com/ma0-101.html
2024 Latest pass4itsure MA0-101 PDF and VCE dumps Download

 

 

 

MA0-101Q&As

McAfee Certified Product Specialist - NSP

Pass McAfee MA0-101 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/ma0-101.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by McAfee
Official Exam Center

 

 

Latest MA0-101 Dumps | MA0-101 Exam Questions | MA0-101 Braindumps                                1 / 3

https://www.pass4itsure.com/ma0-101.html
https://www.pass4itsure.com/ma0-101.html
https://www.pass4itsure.com/ma0-101.html


https://www.pass4itsure.com/ma0-101.html
2024 Latest pass4itsure MA0-101 PDF and VCE dumps Download

QUESTION 1

Which command is used to manually download signature tiles from the tftpserver when connectivity to the Manager is
not available? 

A. Loadimage WORD 

B. Loadconfig WORD 

C. Loadconfiguration WORD 

D. Loadsigset WORD 

Correct Answer: C 

 

QUESTION 2

Where in the Network Security Manager console can you see a hierarchical view of all the installed applications
currently deployed and the resources associated with each? 

A. Device List 

B. Resource Tree 

C. Details Pane 

D. System Links 

Correct Answer: A 

 

QUESTION 3

Which of the following are considered part of the Operational mode of System Health-based NAC? (Choose three) 

A. Audit 

B. IPS 

C. TAP 

D. Simulation 

E. Enforcement 

F. SPAN 

Correct Answer: ADE 

 

QUESTION 4
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What is the command to enable the sensor to forward all traffic at Layer 2 if a failure occurs? 

A. Layer2 mode off 

B. Layer2modeon 

C. Layer2 mode assert 

D. Layer2 mode deassert 

Correct Answer: B 

 

QUESTION 5

Which attack cannot be blocked when the sensor has been set for in-line mode? 

A. TCP Control Anomaly 

B. ICMP Echo Anomaly 

C. Too Many Inbound Syn 

D. SCADA Attacks 

Correct Answer: A 
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